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sample status

“*non-res 4W production running;

= https://prodtask-dev.cern.ch/prodtask/inputlist_with request/7302/

“*res 4W not yet..
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m_jj
< Select two jets which have minimum dR to

construct inv mass, then the other two also
used.
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Track seeding MVA

» PO I I ] TS S S S R | B B L I Iy
v dO, ZO, 5 o__,,g:ﬂgmm ! .?'WE £ |

radiusOfFirstHit used; 3 .| i g“‘; g 1
. . . C 18 .005 | S % ; 18
v’ radiusOfFirstHit 2 e it 3
shows some power; < LI S ol 5
v’ result seems not bad; N s oo f e 8
» radiusOfSecondHit? | B : i

910 5 0 5 10 0 200 -100 0 100 200 50 100 150 200 250

d0 [units] 20 [units] radius Of first Hit [units]

Background rejection versus Signal efficiency
- . = TMVA,

TMVA overtraining check for classifier: BDTG
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Summary & to do list

“dR, m_jj_w1 and m_jj_w2 seem good variables,
since they are not mass dependent. Good for
high mass search;

“*MVA preliminary result shows a good sign in
track seeding;

» Perform some studies on high mass, pheno
side..

» Jet fakes estimation, begin closure test;
» More variables needed in seeding;
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